
2.6

2.8

3470nm

2.6

2.8

3405nm

Am
pl
itu
de

[V
]

Am
pl
itu
de

[V
]

0.98
1.00

1.04
470nm

1.02

0.98
1.00

1.04
405nm

1.02

Am
pl
.[n

or
m
.]

Am
pl
.[n

or
m
.]

0.98
1.00

1.04
470nm

1.02

0.98
1.00

1.04
405nm

1.02

Am
pl
.[n

or
m
.]

Am
pl
.[n

or
m
.]

-0.02
0.00

0.04
0.02

47
0-
40
5[
%]

60s 5s 1s

0

2

4

-4

-2

0 2 4-4 -2

47
0n

m
[Z
-s
co
re
]

405nm [Z-score]

0

2

4

-4

-2

0 2 4-4 -2

47
0-
40
5m

nm
[Z-

sc
or
e]

470nm [Z-score]

0

2

4

-4

-2

0 2 4-4 -2

47
0-

40
5n
m

[Z-
sc
or
e]

405nm [Z-score]

0.0

0.5

-0.5

-1.0

1.0

co
rre

lat
io
n
co
ef
fic
ien

t[
r]

405
vs.
470

405
vs.
diff

470
vs.
diff

a b

d e f g

1

20

tri
al
[#
]

1

20

tri
al
[#
]

1

20

tri
al
[#
]

1

20

tri
al
[#
]

1

20

tri
al
[#
]

1

20

tri
al
[#
]

1

20

tri
al
[#
]

0 20 40 60
time [s]

0

2

-2

0

2

-2

0

2

-2

0

2

-2

sig
na
lc
ha
ng

e[
%
re
l.s
tim

.o
ns
et
]

0

2

-2

sig
na
lc
ha
ng
e
[V
re
l.s
tim

.o
ns
et
]

difference (ΔF/F)

-0.1

0

0.1

-0.1

0

0.1

c

sig
na
lc
ha
ng
e
[V
re
l.s
tim

.o
ns
et
]

-2
0

4
2

-1
0

4
2

sig
na
lc
ha
ng

e[
%
re
l.s
tim

.o
ns
et
]

sig
na
lc
ha
ng

e[
%
re
l.s
tim

.o
ns
et
]

-2
0

4
2

-1
0

4
2

sig
na
lc
ha
ng

e[
%
re
l.s
tim

.o
ns
et
]

-1
0

4
2

sig
na
lc
ha
ng

e
[%

re
l.s
tim

.o
ns
et
]

sig
na
lc
ha
ng

e
[%

re
l.s
tim

.o
ns
et
]

10s

0

-0.1

0.1

0

-0.1

0.1

correct bleaching andnormalizeby fitting signaland divide by fit

smooth signals(movingaverage, 100mswidth)

calculate differencebetween 470and405nmsignals

r=0.61 r=0.61 r=-0.19


